Paper Code 2021 (A) Roll No:
Nember: 21941 | INTERMEDIATE PART-I (11 CLASS)

MATHEMATICS PAPER-I MTN =422} TIME ALLOWED: 30 Minutes
GROUP-1I OBJECTIVE MAXIMUM MARKS: 20

Note: You have four choices for each objective type question as A, B, C and D. The choice which you
think is correct,|fill that bubble in front of that question number, on bubble sheet. Use marker
or pen to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that
question. No credit will be awarded in case BUBBLES are not filled. Do not solve question on
this sheet of OBJECTIVE PAPER.

Q.No.1 ;
(1)  The AM betweien 2, 342 is: (A) V6 B)-2v2 (C) 2V2 @) -6
(2)  Common ratio of G.P }-, l, L] is:
; a b c
(A) i\/g (B) i\/E (©) iﬁ (D) i\[E
c _ a ¢ b
(3) H.M between 3 and 7 is: A s (B V21 (© ~25—1 (D) %
4) If 4 and B ar¢two independent events, then P( 4 B) =
(A) P(A)+PQB) (B) P(4) - P(B) (C) P(AUB) @) P(4)- P(B)
(5) The number of terms in the expansion of (a + x)" are;
(A) n (B n+1 C)n-1 (D) 2n
| 1 2 V3
(6) The value of tan@ for 6 =30° is: A)V3i B+ Ok O —
; : B of 2
7 %” raian = (A) 150°  (B)130°©  (©)120° (D) 60°
8) If sina = , 0<a <%, then cosa = (A) 2 (B) 1 (©) & D) 3
S 2 5 5 5 5
(9) 7 is the period of: ' (A) secd (B) cosec@ (C) cot@ (D) sin38
(10) Inany triangleé ABC , with usual notation J'—sﬁ—;—c—) =
: [}
(A) cosg- (B) cos% (© cos—‘g— (D) sin%
(11) Radius of e-circle oppesite(to vertex '4' of A4BC is:
; A A A A
(A) (B) () == (D)
s-a §=c s s—b
(12) 2tan™'(4) = |
: i
4 o A al 24 af 24
Adan Y & B) tan™'| —— C) tan™ D) tan™'| —
W (1-',42] ® L1+A2] © [1—,42] ©) 1+ 4
; 1 g w T /4
13 Reft le of sinx = — is: A) — B) — C) — D) —
(13) eerencean:geo sinx = — is @A) 3 ()6 ( )4 oy <
(14)  Every non tetminating, non recurring decimal represents:
(A) Rational number (B) Irrational number (C) Natural number (D) Whole number
(15) If 4 and B are any subsetsof U, then 4 - B =
(A) AUBC B) (4U B)* (©) (4N BY° (D) AN B¢

(16) A square mat;rix A =|a,, ] is called upper triangular matrix if:
(A) a;;=0for i<j (B) a;;=0for i>j (C)a,;#0for i>] (D) a;;=k for i<
(17) The trivial solution of system of homogeneous linear equation in three variables is:

(A) (0,0,1) B) (0,1, 0) (©) (0,0,0) (D) (0,-1,0)
(18) If a, S aretheroots of x> — px — p—c=0,then a B =
(A) —p-¢ ! ®B) p+c © p-c (D) -p+c
(19) Sum of all the four fourth roots of unity is: (A) 1 B) 0 © -1 D) 2
2
(20) Partial fractioh of ————~—— will be of the form:
(x+D)(x-1)
A ' B A Bx+C Ax+ B A B
A) —— + +— B & D)1+ +
()x—1+$+1 ()x+1+ x-1 ()x2—1 ®) x+1 x-1
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2021 (A 7 Roll No:
INTERMEDIATE PART-I (11" CLASS)

MATHEMATICS PAPER-I MTw-G3=2\  TIME ALLOWED: 2.30 Hours
GROUP-II SUBJECTIVE MAXIMUM MARKS: 80

NOTE: Write same qu stion number and its part number on answer book,
as given in thejquestion paper.

; SECTION-1
2. Attempt any ¢ight parts. 8x2=16
: [ o @ b @b
() Prove the follgwing rule of addition -- + — = -
; g &

(i) Find the multiplicative inverse of (-4, 7)

(ili) If Z, and Z, are the complex numbers then prove that | Z,- Z, | =| Z, || Z, |

(iv) Writetheset { x|xe N Ax< 10} into (i) Descriptive form (i) Tabular form
(v) = Determine that p — ( p v ¢) is a tautology or not.

(vi)  Find the domdin and range of the relation {(x, y)|x + y>5} if 4={1,2, %4}

' +3 1 Z 1
(vi) Find x and y if | = ]
=3 3p=4| | -8 2]

(viii) If A and B are two square matrices of same order, then explain why in general
(A + B)(A-:B)=# A* - B?

(ix)  Without expansion, show that

(x) Find four fourth roots of unity.

! : . . 28
(xi)  Find the number, if sum of a pesitive fumber and its reciprocal is 5

(xii)  Discuss the nqlure of the rd6tsjof the equation 2x* + 5x —1=0
3. Attempt any eight parts, 8x2=16

1
(x-1D(2x-1)(3x-1)

(i) Resolve into ﬁanial fractions

x2+15
(2 +2x+5)(x-1)

(ii) Resolve into I:ianiai fractions, without finding the constants

i) If 1, > and L arein AP, show that b = =<
a b I ¢ a+c
(iv)  How many teﬂ?ms of the series =7 + (=5) + (- 3) + ———, amount to 65?
v) Find geometri@c means between 2 and 16.
i 2
(viy If y= X4 l;:;:2 + lx3 +—~——andif 0 <x<2, provethat x = Y
2 4i 8 + y

(vii)  Prove that "J—', =n-""'P_,

(viii) How many arfangements of the letters of word, taken all together, can be made “PAKISTAN"?

(ix)  What is the pffobability that a slip of numbers divisible by 4 are picked from the slips
bearing numb:k:rs 1, 2, 3, ---, 107

(x)  Show that lhe! inequality 4" > 3" + 4 is true for integral values of n =2, 3

: 1
(xi)  Expand upto three terms (4 — 3.vc)/2

: ] ~%
(xii) If x isso small that its square and higher powers can be neglected, then show that \/l-l-—x &l ==%

-



(2)
4. Attempt any nine parts. MTo- Q;Pa-\ 9x2=18

(i) If sind = LW (@)isin ge quadrant. Find the value of cot®

2

1
il Verify that 2sin45° + — cos 45°
(i1) y i > cosec \/—

D ¢ mn &
i ’ ?

(iii)  Verify that (sec@ + tan @) (sect — tanf) = 1

(iv)  Express sin3 19° as a trigonometric function of an angle of positive degree
measure of less than 45°.

(v)  Provethat tan(45° +4) . Tan(45° -A) =1

(vi) Provethat 1+ tana . tan 2a = sec2a
(vii) Find the period of 3cos-§

(viii) Solve for C ina triangle AABC if y = 90°, o = 62°40" and b = 796
(ix) Inan equilateral triangle find the value of R.

(x) Prove that (r, +7,) tan% =

(xi)  Find the value of cosec( tan”' (-1))

(xii) Solve sinx + cOSX = 0 for x [0, 27]

(xiii) Find the solution of cot@ = %/5 for @ e[05r]

SECTION-I1
NOTE: Attempt any three questions. 3x10=30
5.(a) Solve the system of linear equations by Cramer s rule.
2x|‘x2+x3—8 x1+2x2+2x3—'6 2x2—x3-—1
(b) If the roots of px* +Gx Hg =0 are @ and S, then prove that \]— ( (
6.(a) Resolve ez U into partial fractions.

&’ A4) (x +3)
(b) Sufn of thiee Humbers in A.P. is 24 and their product is 440. Find the numbers.

2 3
7.(a) If y=%+1—2'-%[?13~) +—1—33—1—5-(%] G om—————— then prove that y2+2y-2=0

(b) Find the values of 7 and 7 when "C, =35 and "P, =210

8.(a) Find the values of the trigonometric function ~ 1;”
(b) Prove that 2sin@sin20 _ nogtan6
cos@ + cos36

9.(a) Solve the triangle ABC if a=53; p=88%36"; 7= 31°54'

(b) Provethat sin™ ( 2. ] +sin” ( i ] — ( 253 )
13 25 325

15-2021(A)-12000 (MULTAN)




